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Date : 17 Décembre
TOUR 3 DOUCET contre REGNAULT
Donnes|  Paire 1 Paire 2 Paire 3 Paire 4
e | Boo | Eden. | Eoens
o | 4+ ueo | gldo FUl | tAeo
w0 | =~ @3 | ¥ fdo — oo | + Mo
n | 2450 | - Aov | 4+ bSo | o
2 = Mo |+ L0 | - Ko | wSSp
13 |+ MO + 2e0 + Mo | = oo
14 |+ Ao 1Yo |+ 1o | =mMo
15 | - MO N - Mo | ¥ -({O"
16 |+ Ao + YV 1+ S0 | == Ko
7+ Se |+ o | = Aoo | #®=F0
8 | - Sro | A+ AUV t50 | 4+ Mo
19+ Yo — ot - S0 + So
20 | + _Apo + bY? — €20 | + GGo
21 | FAWO — (9 | 4 M0 |t 2eo
2 | = Geo + A8 | Mo | -4 1y0
23 | - MO + A9 | 4 Mo 4 Lo
o | ~AJo |+ A4 | - Ao | ==foD
SIGNATURES :

Y Vo)
+220 6
_quo -t



